

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/15/2025 3:17:33 AM

			General De	etails						
Parcel ID:	580-0010-00)130								
Document:	Abstract - 07	Abstract - 01444183								
Document Date	: 05/20/2022									
		Le	gal Description	on Details						
Plat Name: WUORI										
Sec	tion	Township	F	Range		Lot Block				
1	1	59		17		-		-		
Description:	NE 1/4 OF	SE 1/4 EX 4 02/1	00 AC FOR ROA	D						
			Taxpayer D	etails						
Taxpayer Name	ROBISON C	ROBISON CAROL A & THOMAS R								
and Address:	7126 HWY 1	69								
	VIRGINIA M	N 55792								
			Owner De	tails						
Owner Name	ROBISON C	AROL A								
Owner Name	ROBISON T	HOMAS R								
		Paya	able 2025 Tax	x Summary						
	2025 - N	let Tax	\$1,549.00							
	2025 - 5	pecial Assessme	I Assessments			\$85.00				
			al Tax & Special Assessments			\$1,634.00				
	2023 -		•			1,004.00				
	Dura Mara 45	Curren	t Tax Due (as)		Tatal Day			
	Due May 15		Due October 15			Total Due				
2025 - 1st Hal	f Tax \$817.	2025 - 2	2025 - 2nd Half Tax \$817.00		17.00	2025 - 1st Half Tax Due		\$817.00		
2025 - 1st Half Tax Paid \$0.00		2025 - 2	2025 - 2nd Half Tax Paid \$0.		\$0.00	2025 - 2nd Half Tax Due		\$817.00		
2025 - 1st Ha	If Due \$817.	2025 - 2	2025 - 2nd Half Due \$817.00			2025 - Total Due \$1,63				
			Parcel De	tails						
Property Addre	ss: 7126 HWY ²	69, VIRGINIA M								
School District:		, -								
Tax Increment I	District: -									
D	steader: ROBISON, (CAROL A & THO	MAS R							
Property/Homes		Assessme	nt Details (20	25 Payable	2026)					
Property/Home			Dida	Total	Def L		Def Bldg EMV	Net Tax Capacity		
Property/Homes Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	EMV	EN					
			\$221,900		EN \$(\$0	-		
Class Code (Legend)	Status 1 - Owner Homestead	EMV	EMV	EMV	1	0		-		



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/15/2025 3:17:33 AM

				1	- 4 - 1 -			
_				Land D	etalls			
	ded Acres:	35.98						
	erfront:	-						
Wate	er Front Feet:	0.00						
Wate	er Code & Desc:	W - DRILLED WELL						
Gas	Code & Desc:	-						
Sew	er Code & Desc:	M - MOUND						
Lot \	Width:	0.00						
Lot [Depth:	0.00						
The o	dimensions shown are ne://apps.stlouiscountymn.	ot guaranteed to be surve gov/webPlatslframe/frmP	ey quality. IlatStatPop	Additional lot DD.aspx. If t	information can be here are any quest	e found at iions, please email <mark>PropertyTa</mark>	x@stlouiscountymn.gov	
			Improve	ement 1 D	etails (HOUSE	E)		
Improvement Type		Year Built	Year Built Main Floor F		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
	HOUSE	1962	1,5	56	1,556	U Quality / 0 Ft ²	RAM - RAMBL/RNCH	
ſ	Segment	Story	Width	Length	Area	Foundatio	on	
	BAS	1	0	0	474	BASEMEN	NT	
	BAS	1	0	0	1,082	BASEMEN	т	
	DK	0	3	18	- ,		OUND	
L	Bath Count	Bedroom Count	ount Room C		Count	Fireplace Count	HVAC	
	1.5 BATHS 3 BEDR					0 C	ENTRAL, PROPANE	
			mprovo	mont 2 Da	tails (12X16 S		•	
		Year Built	-		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
Improvement Type STORAGE BUILDING			Main Floor Ft ² 192		192	Dasement rinish	Style Code & Desc.	
5		Story	-			Foundatio	-	
Segment		-	Width Length			FLOATING S	-	
	BAS	1	12	16	192	FLOATING 3	SLAD	
		In	nprovem	nent 3 Det	ails (SHIP CO	NT)		
h	mprovement Type	Year Built	Main Fl	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
S	TORAGE BUILDING	2010	32	20	320	-	-	
	Segment	Story	Width	Length	Area	Foundatio	on	
BAS		1	8 40 320		POST ON GR	OUND		
		In	nprovem	nent 4 Det	ails (GAR 40X	40)		
h	mprovement Type	Year Built	• Main Fl		Gross Area Ft ²	, Basement Finish	Style Code & Desc.	
	GARAGE	2023	1,6	00	2,320	-	DETACHED	
[Segment	Story	Width	Length	Area	Foundatio	on	
BAS		1	16	40	640	-		
	BAS	1.7	24	40	960	-		
L			Improve	ement 5 D	etails (Carpor	t)		
J.	mprovement Type	Year Built	Main Fl		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
"	CAR PORT	2009	20		200	-	-	
ſ			Width			Foundatio	- -	
	Segment	Story		Length				
l	BAS	1	10	20	200	POST ON GR	UNID	



St. Louis County, Minnesota



		Improvem	ent 6 Details (G	reenhouse)					
Improvement Type Year		Main Flo	oor Ft ² Gross	Area Ft ² E	Basement Finish		Code & Desc.		
STORAGE BUILDIN	IG 0	33	6 3	336	-		-		
Segmei	nt Stor	y Width	Length	Area	Foundation				
BAS		8	42	336	POST ON (POST ON GROUND			
		Improvem	nent 7 Details (I	Paverpatio)					
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² E	Basement Finish	Style (Code & Desc.		
1990		48	3	48	-	В -	BRICK		
Segmei	nt Stor	y Width	Length Area		Foundation				
BAS 0		6	8 48		-				
	:	Sales Reported	to the St. Louis	s County Aud	itor				
Sa	le Date		Purchase Price			CRV Number			
05	05/2022		This is part of a mult	parcel sale.)	249174				
		As	ssessment Hist	ory					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
	201	\$37,900	\$183,900	\$221,800	\$0	\$0	-		
2024 Payable 2025	111	\$14,600	\$0	\$14,600	\$0	\$0	-		
	Total	\$52,500	\$183,900	\$236,400	\$0	\$0	2,098.00		
	201	\$36,400	\$147,900	\$184,300	\$0	\$0	-		
2023 Payable 2024	111	\$13,900	\$0	\$13,900	\$0	\$0	-		
	Total	\$50,300	\$147,900	\$198,200	\$0	\$0	1,775.00		
	201	\$33,400	\$90,400	\$123,800	\$0	\$0	-		
2022 Payable 2023	111	\$12,400	\$0	\$12,400	\$0	\$0	-		
	Total	\$45,800	\$90,400	\$136,200	\$0	\$0	1,101.00		
	204	\$31,900	\$85,400	\$117,300	\$0	\$0	-		
2021 Payable 2022	111	\$11,700	\$0	\$11,700	\$0	\$0	-		
	Total	\$43,600	\$85,400 \$129,000		\$0	\$0	1,290.00		
		٦	ax Detail Histo	ry	I	1			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land	Taxable Bui MV MV		al Taxable MV		
2024	4 \$1,471.00 \$85.00 \$1,556.00 \$46,221		\$131,326		\$177,547				
2023	3 \$827.00 \$85.00 \$912.00 \$38,759		\$71,343	3	\$110,102				
2022	2022 \$1,457.00		\$1,542.00	\$43,600	\$85,400	0	\$129,000		



PROPERTY DETAILS REPORT





Date of Report: 5/15/2025 3:17:33 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.